Instructor: Professor Griffy
Due: May 8th, 2025
AECO 701

Problem Set 6: The Heterogeneous Agent Model

Problem 1. Huggett Model. On the campus cluster, you will find code to solve the Aiyagari
model with a labor-leisure choice. Please start from that code (email me if you cannot access the
cluster). Please note that this code is highly sensitive to initial guesses!

The Huggett (1993) Model is given by

V(a, &) = u(c) + BE[V(d, ¢;¢)] (1)
subject to
ctd < (L+r())ate (2)
€ ~ Markov, T1(€'|€) (3)
Y = T(1)) (4)

Assume the following calibration:

H Parameter Value H

Cl—o’
u(c) i
15} 0.993
o 1.5
a’ > -2
a grid [-2, 12]
a nodes 100
0.925 0.075
L [ 05 0.5 ] ®)
1.0
€= [O.J (6)

Note that market clearing is given by
/ o'dip = 0 (7)
aXe

1. Solve the model. Plot the decision rules for savings across the a grid for an agent in employ-
ment state 1 and employment state 2.

2. Plot the stationary distribution of wealth.



